V-555 57 14 9

ASR -
1.
(ASR)
ASR
) ASR
ASR -
9 1
W/c / (kg/m)
(1) ASR em [ | &) | ) —wTc s 6 |6 [NaoA
1 8x2 | 53 | 2 1 | 42 | 164|308 784|563 563 [7.54
0.4% 1:1
0.5% 0.6% 3 o oo ( )
2
D6 D10 D13 D13
D13
1 2
(2) ASR ASR ,
ASR (Kg/m*)
W c S E.A
357 534 1071 143
ASR
l
0.3%(D6)
' o
1
AI'“‘
2 100mm E{’,/"/, -
< c 400mi
2 100mm
0.3%(D6),0.7%(D10),1.4%(2D10)
2 2

ASR
2-40-20 TEL.076-234-4620 FAX.076-234-4632

-1109-



V-555
3.
3.1 ASR
(1) 0.5%
(2)
4
2
5
3
)
SD295A
. )
ASR
3.2 ASR
2
ASR
1)

57 14 9
0.6 0.4%
0.6% ASR ASR
5000¢ 5000;
4000 4—8-‘5122 £FF 4000t
= 3000 08 / 3000} <2
2000 of 28 2000
400 :{LAA' ’&\oo~o e\ B g o
1000} Ele0o—_o 0 1000} S
o
500 0~ 100 200 300 400 500 600 O 100 200 300 400 500 600
() ()
4
0.6% 0.4%
'l
«—> >
2000u 450 4500u 150Pu
2000 1800
5
6
2500 2500 e,
2000} 2000 F £§g A
’ - S—
2 1500} 1500 ép N
= 1000} woof 4
500} Z&Xg&ﬂ,d:e 500 —o— 0%
R0, —A— 054
O!AabﬁgﬁzA 0 oot
2005~ 5" 26" 50 80 100120 40160 " 0 50 100 150 200 250
1800u 2500 2500
2000 f 2000}
~ 1500} 1500} P00
=5
1000 } 0-0—0 1000 °
o’ ‘o\o sp
0 = 0 Vﬁs
-500 S ﬂ\ln\n .+ _500 L oot
0 50 100 150 200 250 ~ 0 50 100 150 200 250
() ()
6
7
8000y
8
10000 50007 1.4%
. [
0.3% 4000} —A—A
8000} —~ 3000[
6000}  2000p
1000
4000 } 0d
2000 w1000
| —o () -2000}
¢ ) -3000 e P MR ?~°._°.
E—— 07 4 0 3 6 0 121518 0 3 6 9 12 1518 0 3 6 9 12 15 18
(%) () () ()
7 8
[ 1 ppl42 156,2001.

-1110-



